B0 & S mHEF
FiillalSan g

1067

GiERDHIAMOY FEY

7E i 5 IE 36

=5
SMRSUEIRE RED | SLTL  prvm@s)
SLTLH pr+ - BRHED) e C<0.1 551 3572
%1 SLTLG - SLTH8H2, 9 ‘
%2 SLTL6 - SLTH842.5, vos oot S
F B0 (s) |Prom | @SLTLET# A
ERAR,
g%g §7K~33433HRC @ SLTLHES, (S)=1.6XP,
Catalog No. Catalog No. P B
B4 B . .
WP FlsS Type P B MxP F Type No. | #EEEA0.01mm | EEZHEAL1mm
5X0.8 6 5 10 5X0.8 12 8 6.00~ 8.00
6X1.0 12 10 8 6X1.0 N 10 8.00~10.00
| 9 8X1.25 (P+BRSHEE) | 12 10.00~12.00 5~50
8X1.25 PR~EE) 10 10 15 10X1.5 15 SLTLH 14 12.00~14.00
10X1.5 15 SLTL 12 12X1.75 16 14.00~16.00
15 14 15 20 16X2.0 25 20 16.00~20.00
12X1.75 17 15
16 20 25
16X2.0 25 120 20 25 30
PR E A ETE] | SLPSHeR~ - BR - TR5R)
C=<0.1 L |
eETigE  MxP /
1%
I
F T+o02 B+83
@5 SKS93 ®(S)=1.6XP,
B@EE 37~43HRC %1 D8H2, %2 D8#2.5,
MXP E Catalog No. P B T
Type D FEEB420.01mm Biiimm Biiimm
6X1.0 12 8 6.00~ 8.00
8X1.25 10 8.00~10.00
(P-B - TRHEE) 13 10.00~12.00
12X1.75 15 SLPSH 16 12.00~14.00 5760 a1s
20 14.00~16.00
B¢
15210 29 25 16.00~20.00
Order ‘ Catalog No. ‘ - ‘ P ‘ - ‘ B ‘ - ‘ T ‘ Dellvery EN ﬂi
IT4E T b3
iT83Esl SLTL 8 — B10 xﬁﬁ}] @b NkE
SLTLH 14 — P13.80 — B20 @¥E=1018Y, BHBEZEL,
SLPSH16 — P14.00 — B60 — Ti5

Alterations
BT

[Catalog NoJ~[ P |-[ B [-[ T |- 0O

SLPSH10

— P850 — B10 —

T3 — SC9

Alteration

Code

Spec.

SC
B S

SC |8<sc<s

TEARETACHE

fEREBE A IMm

Example

fEAsEn

0
:

48
L8

%t

MEBELEER  [FEN] | SNST PRE®
SNSTHPR - BRHER)
. R1
soﬁ
f 5 D
B8 ® P10
®(S)=1.6%XP, [@#FE  SKS3
&% 60~63HRC
Catalog No. Catalog No. P B
X X . -
M>P Type P B M>P Type No. | $BEE{Z0.01mm | $EEEAL0.1mm
4X0.7 6 10 15 4X0.7 6 6.00~ 7.00
8 8 7.00~ 8.00
5x08 10 15 20 6x08 10 8.01~10.00
(PRTERE) 12 (P« BRHER) 12 10.00~12.00 10.0~80.0
6X1.0 SNST 13 20 30 6X10 SNSTH 13 12.01~13.00 : )
’ 15 ’ 15 13.01~15.00
16 30 40 16 15.01~16.00
8X1.25 20 40 50 8X1.25 20 16.00~20.00
3 T EER - BRFEE
Nk IR S EIE R [RoHS10] SDSTHPR - BRHER) cos MX15 RV —
S)
o RIIHIEE 9
&
@
+0.3 +0.3
= = & ggg goKiSesHRc
Catalog No. P B
X
e e Type D 1572 8420.01mm $EREA410.1mm
—0.005 M5X0.8 15 B) 8 6.00~ 7.00 3.0~20.0
—0.014 M6X1.0 7 10 7.00~ 9.00 3.0~30.0
—0.006 M8X1.25 | 20 | 11 (P - BR~HERE) 13 9.00~12.00
16 —0.017 16 SDSTH 16 12.00~15.00 3.0~50.0
—0.007 M10X1.5 24 : :
20 —0.020 20 20 15.00~18.00
3 y . BREE B .
INLBRE [ | SDKLH®PR - BR#8%) o5 ﬁmﬁ,+ 5 a5 ¥
& R1
ST .
g ’ b
119
20'8° | _88° | ssokinmozs, g%g 20Ki363HRC
Da6 Catalog No. P B
g Type D $E7E B 470.01mm 57 B A0.1mm
—0.005
0] —oo14 10 6.00~ 7.00 3.0~30.0
13 —0.006 (P« BR~#E/E) 13 7.00~ 9.00
16 —0.017 SDKLH 16 9.00~12.00
20 —0.007 20 12.00~15.00 3.0~50.0
25 —0.020 25 15.00~20.00
Order ‘ Catalog No. ‘_‘ P ‘_‘ B ‘ ex Example
iTE3EHI SNST 8 — B10 fERESI
SDSTH13 — P11.48 — B28.0

ua Delivery
R HH

@LiE - ks

@#HE=1018, 5

B

| I

Tr 4l Er At
0 m 55

1068



